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Mg~ T e i ovdall ZRRAIBT RA C BILLER LI
cvd_all<-read.csv( file = "D:\\ [E 4F ~ $£/i ¢ 3% ] \eNews2018120CVD_ALL.csv")
fn i &g BAB 2 A g isna()pF 2 R 2 FARE(R TS FRARE > § L SIBE D)

n=sum(is.na(cvd_all$# #))

#sigma.squ A * HH O R HE LHET I RE > BRELFLE]0
sigma.squ=10
#ssqu AR AR R EP G BRI ",ij/% R ACaN
s.squ=var(cvd_all$# # na.rm=T )
#t 2T E(N5 3
test.a=(n-1)*s.squ/sigma.squ
#el ¥ ez EfRAh B 5 2+ 2 At EfRA E > 0=0.05
cl=qchisq(0.025,n-1)
c2=qchisq(0.975,n-1)
cat("+ = ¥& T_{E=",test.a,"\n")
cat("= ~ + k&R E:",cl,",",c2,"\n")
if (test.a<cl || test.a>c2 ){
cat("IE.% & & B3K \n")
telsed
cat("* iE% & & 3K \n")
h
#:+ 8 P-value
if (s.squ<sigma.squ){
p.value=2*pchisq(test.a,n-1)
telse{

p.value=2*(1-pchisq(test.a,n-1))
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}

cat("p-value=", p.value,"\n")

(output) H — fk & % & #(iF ¥ L)t T

n=sum{'!is.nafcvd_al1388&:0)
sigma. squ=10
s.squ=var (cvd_all$FE,na. rm=T )
test.a=(n-1)*%s.squ/sigma. squ
cl=qchisq(0.025,n-1)
c2=qchisq(0.975,n-1)
cat (" FhigiEE=",test.a,"\n")
= hi{EH= 1245134
= cat (" - 5RERFE: ", cl, 7, 7,2, )
i SEERF{E: 63781.04 , 65188.75
if (test.a< ¢l || test.a=c?2 ){
cat ("{EEEmEHEF ")
telsef
cat (" FiEEEEEMEE ")

fEEE{l !
#tEHP-value
if (s.square<sigma.squl{
p.value=2*pchisq(test.a,n-1)
}elsef
p.value=2*{1-pchisq(test.a,n-1))
1
cat("p-value=", p.value,"\n")
p-value= 0
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(44354
var.test(x, ...)

var.test(x, y, ratio = 1,alternative = c¢("two.sided", "less", "greater"),conf.level = 0.95, ...)

[ #ip ]
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2. ratio ! x,y R EHEHR L BRI E
3. alternative : ¥ k& » & Bk & T
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conflevel © & ¥f &

> BRI
Ho:d % B oot 5] 850 1(*3 BREHAE -+ 7§ 40y’ = 0)%)

Hi: » BHEBEH G525 1(Ta BREBEEIPE -4 78 40,2 # 0,%)

(#2575 ]

#HiE oG e g > # % ovd all 2B AR E 0 1945 5 ehhelp 0 B RN AT o d A

vartest S B 0 A BB 4w Pk o ¥ "f BABFIE g R B o

fxl &t AR EE NG R o 2 #”f EAFERBOLFY 2R R LG PR
’ - ﬁ#”ﬁ“:p Wk BEER /DR FF

x1<-cvd all[cvd all$3é #==0 & lis.na(cvd all$ 7 £ = #&),]

x2<-cvd all[cvd all$3é #==1 & lis.na(cvd all$ 7 7E & #E),]




e T3 e e fEE > YRR T
var re<-var.test(x1$ 7 & £ #%, x2$ 7 *£ » #&, alternative = "two.sided")
#hg PiE

var_re$p.value

(output) > R A ¥ 2 H(HH L)L R <

= M2<-cwvd_all [evd_all%#fEi== 1 & 'is.na(cvd_al1$Z=REmE), ]
> var.test (x1$ZepEmE, «255EmiE, alternative = "two.sided™)

F TestT TOo compare Two variances

data: x1$==REmiE and x23Z=REmiE
F = 0.94619, num df = 43487, denom df = 16591, p-wvalue = 1.664e-05
alternative hypothesis: true ratio of variances is not equal to 1
95 percent confidence interwval:
0.9224869 0.9703541
sample estimates:
ratio of variances
0.9461865

= war_re<-var.test (x13SepEmiE , «23ZkEmiE, alternative = "two.sided"™)
> var_refp.value
[1] 1.6637482-05

[ 4455 % ]
2% B 0 Povalue=1.663748e-05 1 4 1.66%10°-5<a=0.05 » FIE4 & & B& » 4
4R R DB R G EN I(TA RS BRSO R E) 0 O5%E R S

0.922-0.970 -

< ()i AREHREE L)L R T (Levene test)

S )ERAFEBREDLIR T BFRT F- B2 A Lu a0 ES vk
ABEZ AL S F BB RCRE L BN BT R (b)) S AR R KRR L)
iRt
(45 510)

Frolo ey BRAADEFLA LT AL BERFEEIAPE - HRIE RFES

BooR U R LE g AR




BRI “OdeveneTest” BLf - T help 4§

leveneTest(y, group, center=median, ...)
[ %#p ]
5 3 EaE g
6. group : & E ¥k
7. alternative : ¥ £ » & Bk ¥ T
8. center : mean : :}ﬁ 8 _Levene's test B A3 d1eno N ariR % chf T 39iE ; median &_18
Brown and Forsythe(1974)# 4 e % — f& i * median 07 /% > ﬁ*ér\—"“ WL ST TR

(Levene Test for Equality of Variances http://atomic.phys.uni-sofia.bg/local/nist-e-handbook/e-

handbook/eda/section3/eda35a.htm ) » ot E? #a % 4e P o
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[ #2575 ]
#leveneTest 7 & T §% car it i package
install.packages("car")
library(car)
#y BABRIE 5 Z AL A E R A E F RIS B IE
cvd a<-cvd all[,c("7 "L = #","3 # £ ")]
e EPEA BT REA R DBRE > FFIALMBEE RFLFG TRDLE
CVD <-cvd_a[complete.cases(cvd_a),]
AOGRUA SR E b 0 BRDRAL G A FIRHEE > FP g TEp -7 &
pPhe 2ap=erl}
CVD_b <- CVD[CVD$#4 # & %in% ¢(1,2,3),]
#E 0y S ficdh ~ T 0 2B @ * R4 Levene's test A 4% J1 i 3% Tt center 3% mean

leveneTest(CVD_b$ 7 8 = #&, CVD_b$$ # £ ,center=mean)
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(output) (=) H AR H(ELE L)L R T
= ovd_a=—cvd_all1[,c("s=kEmE", "imsiE ") ]

> CVD <- cvd_a[complete.cases(cvd_a),]

> CVD_b <- CvD[CVD3RFE %in% c(1,2,3),]

> leveneTest(CvD_bi==kEmmiF, cvD_biipEiE, center=mean)
Levene's Test for Homogeneity of wariance {(center = mean)

of F value Pr{=F)
group 2 41.135 < 2.2e-16 **%
15279
signif. codes: 0 ‘##=' 0,001 ‘#**' 0.0l ‘*' 0.05 ‘.’ 0.1 * ' 1
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2. Levene Test for Equality of Variances http://atomic.phys.uni-sofia.bg/local/nist-e-handbook/e-

handbook/eda/section3/eda35a.htm

3. CRAN - Package car - R Project https://cran.r-project.org/web/packages/car/index.html
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